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Clean Code

Controller

(after)
(before)




Clean Code

getClosestDVM()

(before)




Clean Code

setDrinkKinds()

(before)




Clean Code

getOutDrink()

(before)

getOutDrink




» Singleton pattern

Design
Pattern

« Template method pattern




Singleton pattern

(bEfO re) Controlle r~ -|;._ ) | ,

MessageManager()




Singleton pattern
(after)

on location

Item[] itemList

LinkedList<String> vCodelist =

LinkedList<String> prepay

String adminPassword

uniq

uniqueDVM




Controller

o

Controller()
= DVM.getInstance()

= MessageManager.getInstance()

PaymentPage()

PrePaymentPage()

= VerificationCq

Singleton pattern
(after)

Scanner = Scanner(System.

DVM = DVM.getInstancel()

String

String

String




pay(String dCode | totalPrice, String dstID){

showPage()
errno = inputinfo

proceedPay(errno)

Template method
pattern proceedPay(int errno){

(abstract class Pay) Corrno)+

printErr()

printExit()




showPage(){

System. .println(
System. println(
System. .println(

System. print(

t inputInfo()

Template method SERTD DR

pattern (1 | . .equals( )) o
(PaymentPage extends Pay) |

f(CardCompany.isValidCard(1




showPage ()4
t.printlnl
println(
.println(

.print( )

Template method

pattern
(PrePaymentPage extends Pay)

(CardCompany.isValidCard(1




showPage () {

System. .println(

System. print(

Template method
pattern

(VerificationCodeMenu extends Pay)




ock(Integer.parse

Template method
pattern

.nextInt()

.nextLine(




/

Template method
pattern

(after)

showVerificationCodeMenu() {




/

Template method
pattern

(before) (after)




/ Traceability

System Function use case
R1.1E8E 2HF7 1. View item
R1,28= H= s 2. Select [tem
R21 28?5 — > 3. Pay

R22HZEH s —
R 3 CHEEDVMSITIAIZ-
R4 DVMZt E41 75—
R5.1 QZ3L ¥H
R52 QZ3C =Rl _—
—
R 6 AHE7| RAE S
R7RET 2E

_~~»5. Response message (stock)

—»&. Process verification code message
¥ 7. Pay by verification code

8. set DVM information

operaticn in sequence diagram
—+ 1. showMenug)

TR 2 selectitem()

“a 3. putCardinfoQ)

! E 4. proceedPayment)

5. sendRegqMsg()
B
\\' 6. sendVerificationCode()
\

Y
7. putverificationCode()

\ .\.
Im
\ ¥&. setDVMInfo()

% 9. saveDVMInfo()

—
N isValidCount()

A\
:\\‘\ showwerificationCodeMenu()

[operation in interaction cisgram| method

-=showMenui) | — —» showMenu(:void

__»showSelectitemPage( — -+ showSelectiternPage(): void

~»isWalidCode() — -+isVaildCode(): int ermo

— -+ isVaildCount() :int errno

— -+ getClosetDVMO: Location

—_ -+ showQtherDWM(Location otherDVM): void

_’re(eweMsg(MeH.agEManager msg) - void
.‘.J;AshDWEI’if\(BhDI’]CDdEMEHUO void
showadminPasswordPage(: void

/ II:4-5!1|:bwm:lm|nl‘menu0 void

.\\rsetDVMlnfUO void

|4setDrinkinfo(): void

setDrinkKinds(): void
checkadminPasswordiString password): boolean
calculateTotalPrice(): int

getitemList)): tem[]

1ar checkStock(int dCode, int Count): boolean
*;updatestock(mt dCode, int Count): boolean

i/
y

saveVerificationCode()
isvalidverificationCede(String vCode): boolean
| reqVerificationCodeltem(String vCode) - int
;f,’ isValidPassword(String pw) -boolean
saveDVMInfo(String id, Location location): void
\’ "4 saveDrinkinfo(int dCode, int price, int stock, string name): void
)4 saveDrinkKinds(int[] dCode): void

sisRightVerificationCode(

\wshowAdminMenu()
¥ isValidPassword()
+ showAdminPasswordPage()

i
‘wg sendReqMsqg(String type, String dCode, int count)

v setDVMInfo() | | ||y sendReqMsg(String type, String dCode, int count, String vCode)
¥ saveDVMInfo() 1l l q'*\SVaw\dCard(String cardinfo, int totalPrice) -boolean
'.‘*sean'nkInfoO l’ é‘ isEnoughBalance(int totalPrice, int 1) :boolean

'
wsaveDrinkinfoQ) f deductMoney(String cardinfo, int totalPrice) :int
"esetDrinkKinds()

¥zaveDrinkKinkds()

I\ pay(string dCode, int count, int totalPrice, String dstiD): void

1 abstract inputinfo(: int

v proceedPay(int erma): void

abstract printErr(): void

printExit(): void

abstract payment(): void
getOutDrink(int selectedDrinkinfo): void
showPage(: void

i'mput\nfoo: int

printErr(): void

payment(): void

showPage(: void

inputinfo(: int

printErr(): void

payment(): void
createverificationCede(): String
showPage(: void

inputinfoQ: int

payment(): void

printErr(): void

¥ isRightVerificationCode(String vCode): boolean

wsaveverificationCode(String vCode, int dCode, int Count): boolean

sendResMsg(String type, String dCode, String dstid, Location myLocation)

class
controller

DVvMm

Manager

Card
Company

Item

Pay

Payment
Page

PrePayment
Page

Verification
CodeMenu




Traceability

System Function use case operation in sequence diagram _

R1.1 8= BE0FY| —— 1. View [tem — +1. showMenu( — —showMenu)

Ri1,2 =& A= —— 2. Select Item —_ 2. selectitem() S — showselectiternPage()
“‘AQ—-uwmrmg

" jgvalidCount()
getClosetDVM{)

N
 showOtherDVM(




Traceability

System Function use case operation in sequence diagram _

R21EH 7|& —— 3. Pay —— 3. putCardinfo() -+ isvalidCard(
R22HEH™ 7|5 ——» 4. PrePay —— 4. proceedPayment) T:'* showPaymentPage()
" jsEnoughBalance()
“}1\ deductMoney()
‘b:\x‘:\\ updateStock()
A\ Refund
% getOutDrink()
', "« getitemnList()
¥ createVerificationCode()
Y calculateTotal Price()

L




Traceability

Systern Function use case operation in sequence diagram ‘operation in interaction diagram
R 3 GEDVMRAREE — = 4. PrePay ~—= 3. putCardinfo() - isWalidCard()
s 4. proceedPayment() - *: showPaymentPage()

isEncughBalanced)

deductMoney()
. updateStocks

W\ \ % Refund()
h\ \ K getOutDrink(
'\ getitenList)

\" createVerificationCode()
E calculateTotalPricel)




Traceability

System Function use case operation in sequence diagram _

R4 DVM{t EH Jl%‘?’ 5. Response message (stock) ————» 5. sendRegMsg() — updateStock()
“-a 6. Process verification code message - + 6. sendVerificationCode() ““::“\{:""--sendﬂeql‘ﬂagﬂ
recieveMsg()

\\ checkStock()
oo saveVerificationCede()
 sendReqMsg()
recieveMsg()
savelerificationCode()




Traceability

operation in sequence diagram ‘operation in interaction diagram

Systermn Functicn use case

R51 P53 ¥d —» 4 PrePay ——»3_ putCardinfo() - isValidCard()

R52 PI=3C =0 — + 7. Pay by verification code e —. 4. proceedPayment() \“\:;:i showPaymentPage()
“a jsEncughBalance()

T 7. putVerificationCode()
deductMoney()

N

x\ updateStock

'.:"".‘-.*.,.II\\E\" Reﬁ.ll"idl:]

v 4 getOutDrink()

[ ':ﬁ‘ll}“u getltemList()

iy \ createVerificationCode()
2 calculateTetalPriceQ

* getOutDrink()
,':.."-.I*r getitemList()
Iulu:l ‘¢ show\erificationCodeMenu()
I"ll'f isRight\erificationCode()
\ 'I:,L iswWalidverificationCode()
.-1 reqierificationCodeltern ()
"" getName()

' getPrice()




Traceability

System Function use case operation in sequence diagram _

RE A7 A HNE — - 8 set DVM information ——_* 8. setDVMinfo( —__* getitemList)

& g_saveDVMInfo() s showAdminMenu()
isWalidPassword()
showAdminPasswordPage()

saveDWVMInfol)
" setDrinkinfo()
-;'x saveDrinkinfol
| % setDrinkKinds()

* saveDrinkKinkds()




Traceability

Systern Function use case operation in sequence diagram ‘operation in interaction diagram

R7 AtE?| 273 ——» 8. set DVM informaticn ——_* 8. setDVMInfo( — —* getitemList(

% g_saveDVMInfo() s showAdminMenu()
N isvalidPassword()
showAdminPasswordPage(

saveDVMInfof)
setDrinkinfog)

A\ :
W saveDrinkinfoQ)
\ % setDrinkKindsQ

' saveDrinkkinkds()
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